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［問題用紙］ 

Ⅱ－２（熱力学）（Thermodynamics）〔2/2〕 

問題 2 （Question 2） 

 
以下の文章中の［a］～［k］に入れるべき適切な数式，数値，語句を答えよ。ただし，気体は，水蒸気を含む場
合も含まない場合も，気体定数 1 1287 J kg  KR ，比熱比 1.40の熱量的完全気体として扱え。 
静止した大気中の圧力分布は，方程式 d d 0p z g  によって与えられる。ただし， z軸は鉛直上向きの座標
軸， pは大気の圧力， は大気の質量密度， 29.8 m sg は重力加速度の大きさである。大気の状態変化を理想気

体のポリトロピック変化（ポリトロピック指数 n）とみなすと，温度T の勾配 d dT zは［a］と書ける。国際標準大
気モデルでは 1d d 6.5 K kmT z と定められており，これは n ［b］に相当する。 
次に，水蒸気を含む大気の塊が上方に断熱的に変位する。ただし，水平方向の圧力勾配は無視でき，大気の塊は

閉鎖系と見なせ，そこに含まれる水蒸気の分圧は飽和蒸気圧よりも低い。このとき，この大気の塊が上方に変位す

る際の温度変化率は d dT z ［c］K km-1である。周囲の大気の温度勾配が 1d d 6.5 K kmT z なら，上方に変位し

た大気の塊の質量密度は周囲の大気の質量密度よりも［d］，重力が浮力よりも［e］なり，この大気の塊は［f］に
動く。一方，もし寒気が入り込んで周囲の大気の温度勾配が 1d d 13 K kmT z になれば，上方に変位した大気の塊

の質量密度は周囲の大気の質量密度よりも［g］，重力が浮力よりも［h］なり，この大気の塊は［i］に動く。 
一般に，上方に変位した大気の塊が下方に動くなら大気の状態は安定であり，さらに上方に動くなら大気の状態

は不安定である。大気の状態が不安定であると，上方に変位した大気の塊は上昇し続けて温度が低下し続け，やが

て含まれている水蒸気の分圧と飽和蒸気圧が等しくなる。さらに上昇して大気の塊の温度がさらに下がると大気の

塊の中の水が［j］し始める。こうなると大気の塊の上昇速度が増すが，その理由は［k］ためである。 
 

Answer the appropriate mathematical formulas, numerical values, or words that should be placed in [a] through [k] in the 
following text. Note that the gas, with or without water vapor, should be treated as a calorimetrically perfect gas with the gas 
constant of 1 1287 J kg  KR  and the specific-heat ratio of 1.40 . 

The pressure distribution in the stationary atmosphere is given by the equation d d 0p z g , where z-axis is the vertical 
upward coordinate axis, p  and  are the pressure and mass density of the atmosphere, respectively, and 29.8 m sg  is 
the magnitude of the gravitational acceleration. If we consider the change of state of the atmosphere as a polytropic change of 
an ideal gas with the polytropic index n, the gradient of temperature, d dT z , can be written as [a]. The International Standard 
Atmosphere Model defines 1d d 6.5 K kmT z , which corresponds to n [b]. 

Next, an air mass containing water vapor is displaced adiabatically upward. Note that the horizontal pressure gradient is 
negligible, the air mass can be regarded as a closed system, and the partial pressure of water vapor contained in the air mass is 
lower than the saturated vapor pressure. In this case, the rate of temperature change during the upward displacement of the air 
mass is d dT z [c] K km-1. If the temperature gradient of the surrounding atmosphere is 1d d 6.5 K kmT z , the mass 
density of the upward-displaced air mass is [d] than that of the surrounding atmosphere, so the gravity force is [e] than the 
buoyancy force, and therefore the air mass moves [f]. In contrast, if cold air enters and the temperature gradient of the surrounding 
atmosphere becomes 1d d 13 K kmT z , the mass density of the upward-displaced air mass is [g] than that of the surrounding 
atmosphere, so the gravity force is [h] than the buoyancy force, and therefore the air mass moves [i]. 

In general, if the upward-displaced air mass moves downward, the atmospheric state is stable; but if it moves upward further, 
the atmospheric state is unstable. If the atmospheric state is unstable, the upward-displaced air mass will continue to move 
upward and the temperature will continue to decrease and at some altitude the partial pressure of the contained water vapor will 
become equal to the saturated vapor pressure. Furthermore, if the temperature of the air mass decreases further as the air mass 
moves upward further, the water in the air mass will begin to [j]. When this happens, the rate of ascent of the air mass increases. 
The reason for this is that [k]. 











M 一般入試_機械工学 P_熱力学（2024 年 8 月実施分）略解 
 
熱力学 (Thermodynamics) 
2024 年 8 月実施の入試問題の略解 (Brief explanations of the entrance examination in August 2024) 
 
問題 1 (Question 1) 

(a) 理想気体の等エントロピー関係式を使い，
1

2 2 1 1 650 KT p p T 。 

Using the isentropic relation of an ideal gas, 
1

2 2 1 1 650 KT p p T . 

(b) 第一法則より， 23 3 2 753 kJ
1

q R T T 。 

From the first law, 23 3 2 753 kJ
1

q R T T . 

(c) 理想気体の等エントロピー関係式を使い，
1

4 1 2 3 645.8 KT p p T 。  

さらに，第一法則より， 41 4 1 347 kJ
1

q R T T 。 

Using the isentropic relation of an ideal gas, 
1

4 1 2 3 645.8 KT p p T . 

Furthermore, from the first law, 41 4 1 347 kJ
1

q R T T . 

(d) 第一法則より， 23 41 23 0.539q q q 。 

From the first law, 23 41 23 0.539q q q . 
(e) 第一法則より， 23 41 406 kJw q q 。 

From the first law, 23 41 406 kJw q q . 
 
問題 2 (Question 2) 

(a) ポリトロピック変化の関係式と理想気体の状態方程式を使い，
1 110 01 1

1 1
1 1

0 0

,n n

n n

p R T T
T T

。 

これらを与えられた圧力分布の支配方程式に代入し，整理して，
d 1
d
T n
z n R

g
。 

Using the relationship of the polytropic change and the equation of state of an ideal gas, 
1 110 01 1

1 1
1 1

0 0

,n n

n n

p R T T
T T

. Substituting these into the given governing equation for the pressure distribution, 

and then arranging it, d 1
d
T n
z n R

g . 

(b) 3 1d 1 6.5 10  K m 1.235
d
T n n
z n R

g . 

(c) 1d 1 9.756 K km 1.40
d
T
z R

g  

(d) 高く higher  (e) 大きく greater (f) 下方 downward (g) 低く lower 
(h) 小さく less  (i) 上方 upward  (j) 凝縮 condense 
(k) 水の凝縮は一種の発熱反応であるから，上昇に伴う大気の塊の温度低下率が凝縮しない場合よりも

小さくなり，結果として大気の塊の質量密度が凝縮しない場合よりも低くなって，上昇を駆動する

力が増大する 
water condensation is a kind of exothermic reaction, which makes the rate of temperature decrease of 
the air mass associated with the ascent smaller than in the case of no condensation, and as a result the 
mass density of the air mass is lower than in the case of no condensation, and the force driving the ascent 
of the air mass is increased 

以上 



M一般入試_機械工学 P_流体力学（2024年 8月実施分）略解 
 
流体力学 (Fluid Mechanics) 
2024年 8月実施の入試問題の略解 (Brief explanations of the entrance examination in August 2024) 
 
問題 1 (Question 1) 
(a) 30.02 m sQ AV . 
(b) 平板の垂直方向の運動量保存則より， 2 sin 34.64 NF V A 。向きは右下で，平板に垂直。 

From the momentum-conservation law in the direction normal to the flat plate, 2 sin 34.64 NF V A  . The 
direction of the force is right downward, perpendicular to the flat plate. 

(c) 質量保存則より， 1 2Q Q Q 。平板に沿った方向の運動量保存則より， 1 1 2 2cosQV QV Q V 。さらに，ベ

ルヌーイの式より， 1 2V V V 。これらより， 3 3
1 2

1 cos 1 cos
0.015 m s, 0.005 m s

2 2
Q Q

Q Q 。 

From the mass-conservation law, 1 2Q Q Q . From the momentum-conservation law in the direction along the flat 
plate, 1 1 2 2cosQV QV Q V . Furthermore, from the Bernoulli’s equation, 1 2V V V . Using these, we can write 

as 3 3
1 2

1 cos 1 cos
0.015 m s, 0.005 m s

2 2
Q Q

Q Q . 

(d) 平板に固定された座標系における平板の垂直方向の運動量保存則より， 2
P sin 19.49 NF V U A 。 

From the momentum-conservation law in the direction normal to the flat plate in the coordinates fixed to the flat 
plate, 2

P sin 19.49 NF V U A . 
 
 
問題 2 (Question 2) 

(a) 

2 2 2

2 2 2

2
2 2

2 2

d1 cos
d1

1 d sin
d

x x x x x
x y x

y y y y
x y y

u u u u upu u
x y x x y y

p
u u u up pu u
x y y x y y

e

u u u
e

g

g

g

g

g

 

（ xu も pも yのみに依存するので、答は常微分方程式であることに注意せよ。） 
（Note that the answers are ordinary deferential equations because both xu  and p  depend only on y .） 

 
 

(b) 
0

0 0
d sin d sin d sin sin
d

p y

p

p p y p p y p p y
y

g g g g  

 
 
(c) w cosg  
 
 

(d) 0
0 0

d d coscos , 0
d d

x x
x y

y y

u u u
y y

g
g  

 
 

(e) 

2

12

2
2

d dcos cos cos cos
d d

1 cos cos cos
2 2

x x

x

u u y C y
y y

yu y y C y

g g g g

g g g
 

以上 




